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[0100]  zH,h’ e i’ CHERLE = f (o — @) FME G te VRTLI ZHER B, b e A B Al
A0 A AME S IR PEAEL , (a1, Be1) A te—1 ) 20 DU 3 VAT 28 B0 H A PR E A, (ae, Be) Mte
I ZI VY e 3 RAT 28 R PSS A, T R A PR U= SO A P Im A% LL B/, A3 I I
BT HER RN

cos(er, —a, ) ~cos(fB,— B, ) ~1
[0101] tan(f, - )= B~ By

tan(a, —at, ,) ~ @, @,

[0102] A b ARAIE L 51 R AEUE A 00 /o o B W07 BT 52 P, b =2
JAR S IR o

[0103]  PER4, M4m0 UR LA A8 H 48 A0 SR 200 S22 245 A 2 25 4 1 e DY e 3L % AT SR iz 3l L
5, FERF B SIS KA SR A SR AR AU R P 2 RS T B A 1 AR I AR, AT S
W= A8 BAR LR

[0104]  JDERA. 1, %t 1=0,1,2,...,n) I ZFRAGHO G FEWT 2 BARHME: i e 115 21 h 26
BRI -

[0105] £ (6) (6=0"~360°)  (14)

[0106] =, T 20 =0, VR FE W J= AR R AT — AN AT B2 ) BRAELF3 (05) 5

[0107] A BR4. 2, MR TR B 5 AR B W 2 BB T HTH6 A7 B I 2R, 6 508
XF (xi, £i (0)) BT NG LA IHREAS B i 26, 3 AT

[0108]  Pn(x) =fo (x0) +g [x0,x1] (x—x1) +g [x0,x1,x2] (x—x0) (x—x1) +

[0109] ...+g[x0,xX1,..,%Xn] &x—%0) ... (X—Xn-1) (15)

glxp XX x| = g [ XX Xy |

0110 &% X ]=
(16)

1111 =, xi KR &R FEWT Z BG AR T W46 67 B R AL 2R, n i sh & oK/,
LR LW R BRI A R 5, B H S SR TR R S R R 5wl ST I R 2
K4, FBEAT AR DR (i, A\ T SEIRE T 1 Bl 0 1 B 2R M4

[01121  3DER4.3, X Fir LA OB )R BE W /= R 34T 23R4 . 2[RI R 454 , DR ZAE SR I P A7 I
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